I would like to introduce You My idea, about solving longrange propulsion in rockets of long distance jorneys. I know that I´m ahead of My time, because fissionenergy is not relative for a decades. Still I thing I have a point here.

As You can see from My drawing, the principle is simple.

In a top of the ionengine the heliumatoms are devided by the energy (laser?) to the hydrogenatoms, witchs mass is bigger than the heliumatoms witch they are greated from (massingreace with the given energy).

After the ionengine the hydrogenatoms join to form of the heliumatoms witchs has less mass than the hydrogenatoms, witch they form of (massdegreace of rediation energy).

Because H-atoms have greater mass than He-atoms, there will be generated recoil and that is the power that pushes rocket forward.
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